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Note : Attempt all questions.
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Instruction : (A) Questio s@s is an-objective type question. It has three
parts—Part (A), Part (B) and Part (C). Part (A) has Multiple
c type questions, Part (B) has Match the following and
@%’t (C).has Fill in the blanks. Each part has 5 questions.

§Each question carries 1 mark.

-1 (E@Us-3t) Ge) fasey gAe fafad : [1x5=5]
(Part-A) Choose and write the correct option :

() FrafafEs § § s-o gaeE 7He i § 2

(3 () W
(¥) =R (3) WM
Out of the following which resource is man made?
(@) Air (b) Water
(c) Forest (d) House
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(i) =T TR v fora s 3
(87 " d
(7) faum gur o
(%) faur sfteg &
() 7§ =K =
Central budget is passed :
(a) in Parliament
(b) in Assembly
(¢) in Legislative Assembly

(d) None of these

(i) SO R G FTHE :

(37) W% g \\Q®
¥
(@) mg&
N\
(e
(3) =g

The name of the Sansad of Russia is :
(a) Lok Sabha

~ (b) Diet
(¢) Duma

(d) Congress

—
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(iv) A AR Heiferd & -
(37) g A
(%) Fentean &
(¥) soeARmn
(3) wRa @
Colonel Nasir was related to :
(a) Egypt (Misr)
() Yugoslavia
(¢) Indonesia

(d) India

(v) Toast %9 af El?qg'{ TR
Q
(o0 3 sﬁa‘igg%a
(@) 3 5 7 =l
N
( z?)g ERULERIRSIG]
(3 3.9 TR & @lig I
Those whose purchasing power is less :
(a) do not take food
() do not purchase food

(¢) become malnutrition

(d) cannot purchase nutritious food
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AT
w1 (EvE-w) 3faa ey sifg [1x5=5]

(=) (=)
() Tt ygam - () g
‘(fzj--ﬁﬁa?{ﬁ‘aﬁam - (F) 472005
(iif) < 1 sitifiey - (8) THETS G
(iv) THHLE, - (®) TR €IS WA
V) TEw AR At - (3) wEaa

(Part-B) Match the following :

(A) (B)
(1)  Soil pollution - (@) Minimum support price
(i) Sales tax scam - (b) Year 2005

(iif) Industrialisation of Germany (¢)-Chemical fertilizer

(v) ECL - & - (d) End of labour organisation
(v) Rightto Il:%‘@}ktion Act - (e) Stealing of tax
W
-1 (@trg—%@t%m i gfd T ; [1x5=5]

(Part-C) Fill in the blanks :

() WG H — yfy 1 forar TovE T ¥

In India land expansion is not possible.

(i) U R BEA —— F oA F w9y S @ e

~Coal is used as a mean of on earth.

(i) it ffen 49 & ey — & s gam

The starting of colour printing press was done after .
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(v) AR faere — i ¥ T &)
| Lokmanya Tilak was the editor of _ magazine.
) —u%awmmﬁmﬂﬁmmﬁaﬁmﬁl
Duetothe __ poisoning has been added to our food.

et : (9) T FHEE 2 ¥ 6 T AfqegIedd ¥ ¥ ThE WH W
| | 2 3% aTeifed ¥ (IW T Afuhem IR-HE 30 IR ®)

Instruction : (B) Question Nos. 2 to 6 are very short answer type questions.
Each question carries 2 marks. (Maximum word limit of

answer is 30 words)
wei-2 feemIsmamazd €2 [2)
What do you mean by development?
UoA-3 el ook e ﬁi@ [2)
| What is cal]eﬁfop circle?
\ .
w4 m@mm#wﬁmmﬁmﬁa@?ﬁP ) [2]
[ By which type of tax the government get more income?
wgr-5  StEER FEIE? - [2)
What is colonialism?
W6 WA § Fraen 3R & Fase (FE A1 [1+1=2]

Write coal-producing region in India (any ¢ wo).

' PT.O.
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: (W) wm7ﬂ1owaﬁamﬂqminmmw

3 3% ameifed §) (W F stfvmaw w=-dim 50 9% ¥)

Instruction : (C) Question Nos. 7 to 10 are very short answer type questions.
Each question carries 3 marks. (Maximum word limit of
answer is 50 words)
WyR-7 Wﬁwﬁﬁr#ﬁqﬁzm@mmmﬁmgm?ﬁﬁm . 3]

Why was the Disarmament Movement for Peace started in Japan? Write.

-8 Ifte wd Wfamm v
(K ) 2 [1+1+1=3)
What was the effect of the competition between the US and the Soviet
. N
Union on Vie:&@n (any three)?
N
Uy1-9 w@mm#mmumml . [1+1+1=3]
Write three positive effects of language-based state formation.
EE-10 vt | B TURH! H BA-IA @ G F A S vew
272 B3]
What are the challenges that small producers face from
globalization?
2 A
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frdr : () TEHAER 11 | 14 7 TY=T09 9971 T | 0 W91 N ot
faahey B | 7OF WA W 4 3% aeifen §1 (I A Afusam
T=-H 75 I )

Instruction : (D) Question Nos. 11 to 14 are short answer type questions.
Each question has internal option. Each question carries

4 marks. (Maximum word limit of answer is 75 words)
WA-11 TR R Ifd Uxgar § auw wwm s femw €2 fafaw -
(FE am) | [1+1+1+1=4]

What differences do you see between nationalism and ‘extreme

nationalism? Write (any four).

37e1aT/OR
fezer ik yeifert armore & w-wa wama of 2 fafau (FE =) |
What were the similarities between the dictators Mussolini and

Hitler? Write (any fou&\

weT-12 ﬁqﬁmaﬁmégc%mm#gﬁm (2011) wef¥fa faman
T3 amnmm’{ IR FTH gl F IWE [1+1+1+1=4]

(37) wra %t gorn ¥ sergrg U= ¥ TR yfi o o st ® 2
(@) e wR =1 sfr =1 wioem W@ 1 g 3 sdee A FA 2
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(§) WIE St gor A Sxiwe o ffg v =t ift @1 wiawa g R 2
(3) F1 A Q rem-srem yfa 1 whivm some 3 wia 3 79 R ?

The following Pie charts are showing the use land of India and of

Chhattisgarh (2011). Sccing these charts answer the following
questions :

Grassland
Barren land

Waste land

Noo-agriculural [

' | Forest land
land .

Land Use : [ndia Land Use : Chhattisgarh

(a) For which type of land the percentage of land is more in
Chhattisgarh state than India?

(b) For which type of land the percentage of land is less in
Chhattisgarh state than India?

(¢) For which @of‘ land_the percentage of land is double in
Chhauisg@state than India?

(d) Whio@o different. type of land have equal percentage in

%@%isgarh state and India?

37eqT/OR

Fr=ifshe i A $o T few o ¥ | 5% gra v # swem frg e -
foran <iman % 7 39 a1+t I-qfen | aferenr ST o -

- At Tzt &1 3udm
1 |F=u B
2 [ELSIE] _
3 |yfdeR —_—
4 |7ia F) wfeen —_—
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Some names are given in the table. How do they use soil? Fill in

your answer book in table form :

Sl No. Persons Use of soil
Potters

Farmers

1
2
3 Artisans of Sculpture
4

Women of Village

WA-13 SO & 3T6S TAR fore 352 suanht €2 gngme (1 91 [1+1+1+1=4)

Explain how census data is useful for us (any four).
eaT/OR
SHEA faehie gar ¥ fae @ €, $R 2 weese (FE F) |
Explain how population explosion is deadly for society (any four).
U¥A-14  9ig 6t €9y o9 g¢ ? 39 9y 1 9@ v B o off 2  HaRT ) [143=4]
When was the Treaty of Versailles took place? What were the main
terms of this treaty? Explain.
N
: g\\g S79TaT/OR

S
oy fawa %géwm%fﬁm [1+1+1+1=4]

Write an%?%ur reasons.of First World War.

Frder ¢ ()99 FHH 15 W@ 16 qUITIG 999 § | TAF 9eq | =i
faheq ¥ 1 T8® Y9 W 5 3 ayEifen ¥ 1 (I| 1 aifvwan
Y=-G 700 Y })

Instruction : (E) Question Nos. 15 and 16 are long answer type questions.
Each question has internal option. Each question carries

5 marks. (Maximum word limit of answer is /00 words)

W15 oqg & We O omyf e W ool fafe [2!4+2%=5]

Write a note on the ancient and modern structure of currency.
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[10)
HYAT/OR

mﬁ'ﬁﬁm@mmmmﬁmm%}aﬁ@ﬁaﬁiﬁ
F et H B R ¥, HR 2 e Q wwEmn) (3]

Facility of loan on one hand increases our income and on the other

hand we are caught in the net of loan, how? Explain with example.
=16 W e ik Tt stfiarg =5 a1 i (P gren | - [1+1+1+1+1=5)

Write the differences between rural settlement and urban

settlement (any five).

U4/ OR

TR Sfyarsl %t Sty w1 wafa w0 9 SR fafag (HE @) |
Write the factors influencing the origin of urban settlements (any five).

fder : (W) U %% 17 Td 18 I 9 § | s Uy A Safieh
ﬁw%lgﬁwwméwmﬁa%l(maﬁaﬁw

g@r 750 VI €)

Instruction : (F) $Q&stmn{ Nos. 17 and 18 are long answer type questions.
@ Each question has internal option. Each question carries

6 marks. (Maximum word limit of answer is 750 words)
WT-17 YR & Je2ufa it vl 9 sl o e s [1+1+1+1+141=6)
Explain the powers and functions of President of India.

3rear/OR

faafed () AN & B: Fral @ fFEH Swe Hifv |

Write six functions of the Election Commission and explain.

S-3A
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[11]

qv-18 mmﬁﬂ—mmﬁﬂmﬁmffm#ﬁﬁﬂ?mﬁﬁq )

(¥ &) | [1+1+1+1+1+1=¢)
Explain for what reasons voters do not participate in the voting
process (any six).

37eEaT/OR

VT W WS I o R e ¥ | e ¥ vew 9 e 5
forgail o v wifo |
“The right to form an organization is essential in a democracy.”

Explain the importances of organization in six points.

oooooooooo
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